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I . Listening Comprehension

( T ) Questions Overview

1. Question Quantity & Time Limit

According to HSK Test Syllabus, Section
I of HSK is Listening Comprehension. The
test takers are required to complete a total
of 50 questions within approximate 35
minutes in this section. The section
constitutes the largest part of the whole
test in question amount and is also widely
regarded as one of the most difficult parts,
hence it is the section worth paying

particular attentions to.
2. Question Patterns

The section of U /1 #f# consists of 3
as detailed below (in
reference to Chinese Language Level Test

parts in total
Syllabus ( Preliminary level & Intermediary
level)) :

Part [ (15 questions): In this part,
examinees will hear 15 statements read by
one speaker. After each statement, there
is a question read by another speaker
concerning the statement. Examinees are
then required to select the best answer
from the 4 choices marked A, B, C and D
below by marking the corresponding letter
with a crossline.

For example: The recording reads:

W WEZ 10457 5,
Bl A RAT L BHAR?



—. 7)) IHE

(—) FERADHEN

1. FEDES LUK

HSK GABREHAE (1 L 2 & GABRDE—ER
SMITe T > 7 1T WM 35 43 &5
TOMTHSH. ZZI3RAEBEFHED AHFE
DB D—DTHY) FoELEL
CRULNBEDTLH B, ZEREIFIC
EETO2LEN S 5.

2. MEDFR

E7 ) v 7 HABRIIZIDDERS D K
INT B, 2 ZTIINFEEEARFER
KM HE) e AT T 5.

B4 (15 ) : 2 DS DORIREIL .
FT—ABP—DODOX2FEL . ZABH . #
IZOWTEMT 5. ZRBREINZEY
721 BB RO DBRINE D &5 & L EY)
LREPBRL(BERROTONET ST
W77y b Ee—775),

PIZIE REBEDHESEY .

W AEEZ 10457 &,
. AR 4 BE?

% BRER

(—)

A+E 27N

e

1. 2N X A8 A2

HSK A& Alg A 1 58 E7]0] 3 0]
th AP A 7S tigF 358 0] BF 50 &
2oz AA A Foll M T2 RE
=9 shvtoltt, =3 P Ao HEFHo 2
71 gt »=7e B R F9 syE 5
Aol 53] F Aok gt

. SR

£7loldl: 38R o2 THH Y2,
(FFSEHMY L7HE,3)) 19 1
o 2705HW ofeh 9} 2o

AL RE (15 FR): 0] BEo FABL
AAA Abgo] Bubrie) Be dhx 2 WA
ALl o] Y gol 278) BAE A7) i,
SR T 5& Fol AFA 9o 47 A
HEGIA 71 AG Fe Adsob
STk (Aol A g A §g B,

g EW FYAYo] o}l ge ES



RiEAFH KK F . FH)

R LF 4 M ERER:
A 7TEI0% B. 7 %
C. 10 &7 % D. 6 %50

X—EHERERE D, HEEEE L
RN T D b —HGE .

&R (20 D« XIS IREE R P
KRR 3 5 55 = AARYE XHE 42 HH — 4> [A]
W, % W 5E Ja DL AE % b B PO A4 8 2B 58
Hr PR X 2 R (FEE 46 300 H %o Bz Y
T,

fan, LU E] .

B HhELAT?

do: KA KB BRFE, RBLED,
KR RFRARET?

M. e B A2

e LA 4 RIEER.

A. B B. %3

C. A7 D. "4k

X—BUE# B R 2 C, BT A% 4 R %
HEEETIZE T T C Ll—f#E,

B 15 D+ LR LB
KHATERPHE, BRIEZIE. 8 A AR
B =A R AHE SRR TS, &
U se— ANV, % 4 R A% b 6 D0 6 it
5 R IRA  0  (E%%  R1 48
RIHIFE)

B, %5 38.39 i, EAEF.

Here are the 4 choices given to this

question:
A. 751045 B. 7.%
C. 10574 D. 6 & 50

The best answer to this question is D
and letter D should be marked with a
crossline.

Part [[ (20 questions): In this part,
there are 20 conversations between 2
speakers and the third speaker will ask a
question concerning each conversation. At
the end of each question, examinees are
required to select the best answer from 4
choices marked A, B, C and D by marking
the corresponding letter.

For example, the recording reads:

B REAT?

% KA XRERFE, FELAAE,
KR RRAZRKET?

. ke EAEMA L7

Here are 4 choices given to this question;

A. B B. 33

C. A% D. iR

The best answer to this question is C
and letter C should be marked with a
crossline.

Part [[[ (15 questions): This part
consists of several longer dialogs or
monologs. At the end of each dialog or
monolog, the second or third speaker will
ask several questions closely related to what
just heard. And then,

required to select the best answer from the

examinees are

4 choices by marking the corresponding
letter A, B, C and D.

For example, for Questions 38 and 39,
the recording reads:

*: LR T 57
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: Alvgit, 4R EFRILE?

: LHEXRARB,

: ARAEAE A R G?

: RE ALY ET .,

The third speaker asks 2 questions:

LR S

38. fufi ETEMRLIRIE R 7

4 choices are readily available for the

questions:
A ¥ B. B/
C. &%k D. X3 E¢% L

Based on the dialog, the best answer
to Question 38 is D. On the answer sheet,
the letter D under Question 38 should be
marked with a crossline.

For Question 39, it is heard from the
recording:

39. LI EZE T4

4 choices are given for selection:

A F3 B. A& %
C. *Li& D. £A&

Based on the dialog, the best answer
to Question 39 is D. Crossline the letter D
on the answer sheet.

3. Test Requirements

The section of “Wy Sy f#” is designed
to test the takers’ ability in understanding
the statements, dialogs and talks of general
subject matters. All of them are read at a
normal speed. To this end, the test takers
should be:

(1) to grasp the general ideas of the
heard statements, dialogs and talks,

(2) to skip the difficult part and get hold
of the key information or crucial details,

(3) to make reasoning and estimate in
reference to the material,
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(4) to catch on the speaker’s purpose
and attitude.

The abilities for
foregoing tasks can be summed up as

performing the

abilities of generalization, memorization,

logic reasoning, guestimate, vocabulary

and grammar mastery.
4. Test Method

In Wt J) #Efi# section, the test takers
are first required to listen to one audio clip
at a normal speed (170-220 characters per
minute) , which is played only once. After
each question, it gives 15-20 seconds to
answer the question. Test takers are
required to select the best answer from the
4 choices provided and mark the correct
letter for the corresponding question on the

answer sheet.
5. Qualification Requirement for Test

The Preliminary Level and Intermediary
Level of HSK are both composed in reference
to Chinese Language Level Grade Standard
and Grammar Grade Syllabus and Chinese
Language Level Vocabulary and Characters
Grade Syllabus. The characters to be tested
are classified into 3 levels: A (798), B
(808) and C (598), 2204 in total; and
phrases in 3 levels: A (1033), B (2018)
and C (2 202),5 253 in total; and grammar
also in 3 levels: A (133), B (249) and C
(207), 589 grammatical points in total.

As far as learning is concerned, it

normally takes one or two years of
systematical learning to meet the target and
requirement mentioned above. Here one

year of systematical learning indicates a
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minimum of 800 class hours. In the event
of less than one year, or 800 class hours, it
is strongly recommended examinees attend
the Preliminary Level of HSK. In case of
two years of learning ( 800-1600 class
hours), it is recommended the examinees
take Preliminary Level or Intermediary
Level of HSK. Provided above two-year
learning experience, the examinees are not
only qualified to take the Preliminary
Level & Intermediary Level of HSK, but
likely to give their best play in the test.
Meanwhile, it is strongly recommended
they take Advanced Test of HSK.

() Instructions

W 13 f# is to answer questions based
on the audio messages heard as the ears are
EIRGE, L

FHf# and 455375 are to answer questions

much involved. However,

based on the written contents as the eyes
play bigger roles. Hence, to the test
takers, Wy Jj #fi# differs greatly from the
other three sections. While the test takers
can decide on the time consumed for the
questions in sections of iBE¥ELEH, 5L
and %7 & #H % depending on their own
situation, they can not be so flexible when
it comes to Wy J7 PR f# test. In W J7 B f#
section, the speakers speak at a normal
speed, which is still a little fast to some
extent and the audio tape is played only
once with the interval between questions
designed beforehand (15-20 seconds for
each question), so the test takers can not
afford the time to idle on the specific
questions for as longer as they think they
should be. '

To make it worse, the
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incomprehensible characters, phrases and
sentences cannot be found on the paper
either. These are factored in making Py /]
Hf# the toughest part of the test for most
of the examinees. To help the test takers
gain ground in the section, we offer our

tips as follows.

[Test Technique)
1. Helping with visional function and reading
the choices before listening
Two tips are for this technique.
Firstly, after the audio tape reads %F,i5 K
KAERLF T I PR 5 B FE T 46 the test

takers will hear the direction of this part.
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Since the direction is a boilerplate
message for every listening test, the test
takers are

supposed to have already

known. They are advised to skip the



